Text Messaging

1. How many text messages are sent if four people all send messages to each other?
2. How many text messages are sent with different numbers of people?

3. Approximately how many text messages would travel in cyberspace if everyone in
your school took part?

4. Can you think of other situations that would give rise to the same mathematical
relationship?
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Follow-up task for students

Look carefully at the following extracts of work from other students. Imagine you are their
teacher. Go through each piece of work and write comments on each one.

* Have they chosen a sensible method?

* Are the calculations correct?

* Are the conclusions sensible?

* Is the work easy to understand?

Name Comments
Tom

Sam

Chris

Lily

Marvin

Now try to write out an answer that is better than all of them!
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Tom’s answer

Celio Serds o to Troces =A
TraceySendS One to Celia =1
Traceq sends one t& Maoria =1
MarLa 5er~cfs oNe ™ anne - Maoria =A
Anne -marie Serds one @ Celio =1
Celid Serds onk to onne -Mari =1
Nara SerdS ane o Tr'oc,e.\/ =1
Tacey sSend® one ko Annemarie =
Mria Serds ona & Celwa =1

Sam’s answer
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Chris’s answer

1<

46________.
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Poople 11 3 4 5
| Fexts o 1 3 ¢ 16
Lily’s answer
Ay | Beunda| Suzie Mary | Tom
] Prow — Tent Text | Text Text
Bekda | Text | — [Text | Text [Txt|= |2 kexrs fov 4 peophe

Suzae Teyy | Texy | — | Texd || Tesf
Mary Text | Text | Texh|— || Tent
Tom | <enb | eyt ) Text] Toxt | —

Tom adds § move Lok

For more peoph yon 0dd extra vows and cohums.
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Marvin’s answer

ha3 =12 So these a2 [2 wesioges unth 4 peofh
With eight paophe thoe wilk be §x7 = 56 massigeo
With o faousaed peopl et will be 1000X94 = ‘?Q%ODM%

The fovmmla & Numbey of wpla.x v liss Yhon Pig Lecommse
Yo dont fnd o texk —b.\jswulﬁ.
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Progression in key processes

Representing

Analysing

Interpreting and
evaluating

Communicating

NOISSIdO0dd

Represents some
individual text
messages that are
sent.

Uses marks or
diagrams to show
the texts.
Chooses to use
repeated addition.

Chooses to use
multiplication to
work out the
number of texts
sent.

Chooses to use
algebra to show
the general case.

Works out the number
of text messages for
four people correctly.

Increases the number
of people in an
organised way.

Correctly works out the
number of texts sent to
different numbers of
people.

Finds a correct pattern
in the results.

The reasoning is based
on particular examples.

The reasoning moves
from looking at
particular examples to
more general cases.

Says that everyone
sends the same
number of messages.

Explains the result for
a number of people
other than 4.

Finds a correct rule
for calculating the
number of texts.

Makes and justifies
correct general
statements relating
the number of texts to
the number of people.

Makes and justifies
statements for large
numbers of students.

Shows how the
answer was found.

Shows the method
clearly and where

the answers come
from.

Explains how the
rule links to the
context of sending
texts.

Writes a complete
and concise
summary with clear
links to the original
context.

Discusses
mathematical
similarities and
differences between
sending texts and
other contexts — e.g.
matches in a
football league.
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